HREE R
Shock Absorber

ENG BriESR  HAMAEE

b5 R S e
= fEe# HE S TEE
E 11 T 2 4 < N ~
- (B e
it T -
L
D h—— fEF;BRE:-10°C~70°C
2
HEC T T 86 11T How to order «)
M M < AB111 - 0806 -
. j‘\ @) < T\ @ | \
¢ TYPE No.
*E — _ ]
: i BRI
5 . — — 7 —
FR : O o o NG
CUER AT - E8EE) o .
b= ] U B fizmm
e AR BEEE @gsg SARKEEN-m) 2R A FERST 1218
&= MxPitch S ’ kg m/s =%/ B4E BBhiESE ERHESE B (o} D E F I G
M8X1.0 6 0806 0.6~33 2.6 104 55.4 47 36.5 4.5 2.8 6.6 85 3 11
1 M10X1.0 7 1007 1.1~63 5 200 62.3 53.8 42.2 4.6 3 8.6 8.5 3 12.7
< M12X1.0 10 1210 2.2~80 3 10 400 72 62.5 47.7 4.8 3] 10.6 9.5 4 14
M14X1.5 12 1412 4~144 18 540 92.7 79.3 59.3 8 36 12.2 134 6 10
,\\ M20X1.5 15 2015 10~368 46 920 104.5 88.5 68.5 5) 5) 17.8 16 8 26
) . (02)2688-3188 @ T
7= che Na (02)2688 3177 ‘ info@chena.com.tw ‘ @ (02)2688-3881~3 b= 2158



